FINAL EXAM SYNTAX

L-scores and Q-scores

COMPUTE lscore = (3 * trial1) + (1 * trial2) + (-1 * trial3) + (-3 * trial4) .

EXECUTE .

COMPUTE qscore = (1 * trial1) + (-1 * trial2) + (-1 * trial3) + (1 * trial4) .

EXECUTE .
Simple Main Effects

UNIANOVA

  attitude  BY schedule reinfor

  /METHOD = SSTYPE(3)

/lmatrix ‘schedule vs reinfor within token’

schedule*reinfor 1 0 0 -1 0 0 schedule 1 -1

/lmatrix ‘schedule vs reinfor within money’

schedule*reinfor 0 1 0 0 -1 0 schedule 1 -1

/lmatrix ‘schedule vs reinfor within food’
schedule*reinfor 0 0 1 0 0 -1 schedule 1 -1

/INTERCEPT = INCLUDE

/CRITERIA = ALPHA (.05)

/DESIGN = schedule reinfor schedule*reinfor .
UNIANOVA

  attitude  BY gender volume

  /METHOD = SSTYPE(3)

/lmatrix 'gender vs volume within soft'

gender*volume 1 0 0 -1 0 0 gender 1 -1

/lmatrix 'gender vs volume within medium'

gender*volume 0 1 0 0 -1 0 gender 1 -1

/lmatrix 'gender vs volume within loud'

gender*volume 0 0 1 0 0 -1 gender 1 -1

/INTERCEPT = INCLUDE

/CRITERIA = ALPHA (.05)

/DESIGN = gender volume gender*volume .
Interaction Contrasts

UNIANOVA

  test  BY schedule reinfor

  /METHOD = SSTYPE(3)
/lmatrix '(token vs money) for random vs (token vs money) for spaced'

schedule*reinfor 1 -1 0 -1 1 0

/lmatrix '(token vs food) for random vs (token vs food) for spaced'

schedule*reinfor 1 0 -1 -1 0 1 

/lmatrix '(money vs food) for random vs (money vs food) for spaced'

schedule*reinfor 0 1 -1 0 -1 1.
UNIANOVA

  attitude  BY gender volume

  /METHOD = SSTYPE(3)

/lmatrix '(soft vs medium) for men vs (soft vs medium) for women'

gender*volume 1 -1 0 -1 1 0

/lmatrix '(soft vs loud) for men vs (soft vs loud) for women'

gender*volume 1 0 -1 -1 0 1 

/lmatrix '(medium vs loud) for men vs (medium vs loud) for women'

gender*volume 0 1 -1 0 -1 1.

